Paper: B.E_B.Tech
Set Name: |Item23
Exam Date: | 26 July 2022
Exam Shift: | 1
Langauge: |Urdu
Topic: Mathematics-Section A
Item No: 1
Question
D- 100101
Question
Type: MCQ
et | £ 18 2 < f®)=7 S ) -f()=x S UpISES LT f1R > R S
uestion:
sl
A i |
B: 10
C: 11
D: 16
Topic: Mathematics-Section A
Item No: 2
Question
D- 100102
Question
Type: MCQ
Gkl OAB S S 2, Re(z,) <0 Zy 55 B floaee 2=142i BIA selpr O S/
Question:
; o & POt
¢ ‘L.Uf-( é‘olf-u)/;.uf‘jﬂ:',?xﬂ».,}' << OB (hypotenuse) /UU.'.;JL/?' ‘L»i'.«f-'*c)'-‘-’ul
A: arg z,=w—tan~13
B: arg (z, —2z,)= —tan~1 -
: AT 3
C: |ZE‘ = \.'10
D: |221 — 22| =b




Topic:

Mathematics-Section A

Iltem No: 3
Question ID:  |100103
Questi
T;Jpees: on MCQ
" KUYl L«‘L,P i
8x+y+dz=-2
Question: % iy o y+ z=0
AX—=3y=p
. - ] -t P -
P e dob Bx+y+4z+2=0 (P (M o) B e JLEUPSEY
A: 3\/5
B: 4
C: %
9
10
D:
3
Topic: Mathematics-Section A
Iltem No: 4
Questi
ID‘feS 'oN" 1100104
Questi
T;pees: on MCQ
vt A . det (A+1) (Adj (A)+ D)) =4 ool det (A)= -1 L LS UL 2%x2 LI A SYSF)
uestion:
s e (heszket Sl
A: -1
B: 2
C:
D: _.\/E




Topic:

Mathematics-Section A

Item No: 5
Question
D 100105
Question
Type: MCQ
. 364 . 5 g

Question: _,‘L.,,(U,L «— ,;ﬂm/&mcﬁ y=1,y=3,x=0,x=12 fb}’u’l a .00
A: 3
B: 5
C: 7
D: 9
Topic: Mathematics-Section A
Item No: 6
Question
D- 100106
Question
Type: McQ

Sen§ A6 60+n 14,4243, 2, 22 23, S\ AF GPs me LS 0l 60
Question: .

225
Py 2 kin—k) < () 8
[ k: .] [

A: 560
B: 1540
C: 1330
D: 2600
Topic: Mathematics-Section A
Iltem No: 7
Question
D- 100107
Question MCQ

Type:




log. (1— x + x2)+loge(1+x+x2) oo | OB T
; _o f@)= Secxy — Cosx ¢ g i) = £
Question: aLJJ:( x=0 - d‘[ﬂ/’/’
: k 7 x=10
< k&
A: 1
B: -1
C:
D: 0
Topic: Mathematics-Section A
Iltem No: 8
Question ID: | 100108
Question
Type: MCQ
J’x+1 , x<0 J*c-i—a , x=<0
: /R &(x) = [ Fey=is,, et P
Question: UEJ): 1(1 — 4)2 +b , x=10 # 1|1 —4 , x>0
< () )+ (fog) (—2)
A ~10
B: 10
C: 8
D: —8
Topic: Mathematics-Section A
Iltem No: 9
Question
D- 100109
Question
Type: MCQ
i J ) J'xa—x2+10x—7, x =<1 /
= = el X -‘ I{ (o~ x)= )
Question: fE4x=1 Lot _{Ku,u,drl/u L& 4 1—21‘ + logq (b2 -4y, x>1 L7
- g ‘adbﬁrﬁrﬁ’l
A (-6, —2)




B: 2, 6)

c [-6, —2) U (2, 6]

D: (-6, -2} L (2, 8]

Topic: Mathematics-Section A
Item No: 10
Question ID: 100110
Question Type: | MCQ
1 — cosx . o 2n "
Question: - = |— | a= lim = . .5 |
& SR =T xe(01) 4 AP S A
A mf(ij . f;(i)
2 2}
a a
B: el i I — \/E
f (2} / (2]
a a
o (3] #{3)
f 2 f 2
d a
D: i — \/E ’(—]
7(3) -3
Topic: Mathematics-Section A
Iltem No: 11
Question ID: | 100111
Question
T;pe:I MCQ
Question: : .-:-__,r,.:!f‘yld/ y(x) & ‘y(g] =0 % + 2y tanx = sinx, < x < g N
1
A: e
3
3
B: —
4




1
C: —
4
3
D: "
3
Topic: Mathematics-Section A
Iltem No: 12
Question
ID: 100112
Question
Type: MCQ
P of (x,) =0 USSP 14 226U P UL Sl (—2,1) 4 (1,2) bES ke t/7 P L
Question:
' < ABCD (Quadrilateral) { Wollo-c B8 D «C bESLF yuly B <A b6dF x 2e (¥
9
A: —
2
B. 317
2
c. 317
4
D: 9
Topic: Mathematics-Section A
Item No: 13
Question
D- 100113
Question
Type: MCQ
Aig (a+4, B+4) Borewfy 20+2y=5 & guf&?; R2=24x 34 (o, B) BSYS P
Question: . 2 '5«'2
¢ ‘gbfg.?“a,,bﬁu{mﬂ_& ;1_2 - B—2 =1
A: (25, 10)
B: (20, 12)




c (30, 8)

D: (15, 13)

Topic: Mathematics-Section A
Iltem No: 14

Qgestion 100114

ID:

Question

Type: MCQ

Question: | : = e (1, -2, 5) Ligks il x+y—z=0=x-2y+3z-5 Bl Je (1,2,4)

C: E
2
D 1
Topic: Mathematics-Section A
Iltem No: 15
Question
D- 100115
Question
Type: MCQ
S S S 5 e F T A A A — ~ ~ ~ .
£ -i+27-2k K axb B b=2i+7-ak,a>0s a =ai+j—k JIF
Question:
P e e 30 Jb
15
A: —
2
B 8
13
C:
2




Topic:

Mathematics-Section A

ltem No: 16
Question ID: [ 100116
Question
Type: MCQ
: 4 2 o -
Question: | : &« P(X=4| 5) o2 PX=1)= a3 /'/l_{_ 3 A __,,.;ﬂg:;agwu_wff:’d}ubg
2
A: =
9
64
B: —
81
16
C: —
2f
145
D: e
243
Topic: Mathematics-Section A
Iltem No: 17
Question
D- 100117
Question
Type: MCQ
N = o 3 - |‘.?."' - .
AP p I PES) = 2P i PE) =22 e S E By, By By U
Question: 8 6 )
L e (PP, o U, A P, P LA
2
A: —
3
3
B: =
3
3
C: —
4
D: 1

Topic:

Mathematics-Section A




Item No: 18
Question ID: 100118
Question Type: | MCQ

> S={0 € [0, 2] : 825in°0 4 gc0s?0 =16} (S P}

Question: L e
¢ e syl NS+ D | sec (1 + 20] cosec (— + 2{]}
] et HE‘; : 4 4 ;
A 0
B: -2
C: —4
D: 12
Topic: Mathematics-Section A
Item No: 19
Question ID: 100119
Question Type: | MCQ
Question: ¢ L -1 1 il 3 -1
stion: Voo sl tann | 2 tan — +sec  — + 2tan —
¢ 5
A: 1
B: 2
1
C: —
4
5]
D: —
4
Topic: Mathematics-Section A
Item No: 20
Question ID: 100120
Question Type: | MCQ

Question: — (~pe~q)Aquk
A (Tautology) Uhﬂji/"{ L




B: (contradiction)$4 J}‘_ﬁ
C: (equivalent) J’ WL (P=>9) Aq
&
D: JUL p=qAp
Topic: Mathematics-Section B
Iltem No: 21
Question
D- 100121
Question .
Type: Numeric Answer
L (p2+q)x2-2q(p+1)x+q2+12=0 abLﬁ{a.J.?’L;;?..ﬁ (sign) JEEE LZp,qreR Fa
Question: qz g
el g e s 7S a2+ 2 —8=0 whilasie Ll JEUs e
I— [
Topic: Mathematics-Section B
Iltem No: 22
Question ID: (100122
Question .
Type: Numeric Answer
Question: | _{y e 36 AL UEUr L G S S FEL Uy 5
Topic: Mathematics-Section B
Item No: 23
Question
D- 100123
Question .
Type: Numeric Answer
Suestion e Jedr Ut B), 16,9, 12}, (15,18, 21, 24, 27),. . . s (multiples) b2l =3L 3
sl RIS L 11th
Topic: Mathematics-Section B
Iltem No: 24
Question 100124

ID:




Question

Numeric Answer

Type:
Question: | _o :l.u:jd/u.ujg FEL B3 —a2—x+1)+x (33 —4x2—2x+4) - 1=0 =+
Topic: Mathematics-Section B
Item No: 25
Question 409125
Question ,
Type: Numeric Answer
P ot =5 =3Pl L a2l x AL (1+x)P (1—x)9, p, q < 151
Question:
* el
Topic: Mathematics-Section B
Item No: 26
Question
D- 100126
?ues.tion Numeric Answer
ype:
. 1 1 : z
Question: | _. neN o n(2n+ 1) JU (1 - x"y" dx = 1177 IU 1-xM"1 gy g
: — .
Topic: Mathematics-Section B
Item No: 27
Question
D- 100127
?ues.tion Numeric Answer
ype:
L x(>3) 1! (abscissae) L:,V‘!J,;Jlﬁ,zf X {J&dfu"lulﬁa. b e (3,3) £ y=y(x) oiﬁ .J/u_f/u“’/
Question: _ £ 2
_‘a.j,lj,ﬁ. a < “a.t';}'//f-'a. {, 6110) Jz?ufd;%uf;//l_‘a. (i] Ll
X
Topic: Mathematics-Section B
Item No: 28
Question 490128
Question

Type:

Numeric Answer




~Ut x—y=3 s x+py=15a « 2x+y=0 Ll CA usl BC AB L1 ABC b (i

Question: 1 . _
-{LJ'JL P« (2,a), 75 <a<2, (orthocentre) }'}:‘”}l 19 L
Topic: Mathematics-Section B
Item No: 29
Question
D- 100129
Que§tion Numeric Answer
Type:
{JIJy2=4ax &5-,‘¢|ﬂl?’*/,uf (a, 4) »iletBE (0,a) « f(x)=2x2—log.x, x >0 Jes S P
. F - = L ‘1 . oy = + *
Question: aIJPJutrt,; p Ji'el/'/'_.‘:'_ &S [— 3 0] ,biiug‘:'_dﬂ/'::. (8a, 8a—1) LUy p L
X v
_.LJ,IJ,L I ¢ i oif . + = =1
. - T o B
Topic: Mathematics-Section B
Item No: 30
Question
D- 100130
Question ,
Type: Numeric Answer
- 4 . X + 1 19" + 2 e 1 .
Ut bn 6L 0K V26 & P(4,2,7) By —— =5 = 5 BRAMQIUNY
Question: -
i &6l PQR &4
Topic: Physics-Section A
Item No: 31
Question
D- 100131
Question MCQ

Type:




U S B e bl P U Bl 1SS my=20 kg st my =10 kg « M=100 kg UseE
J C)?fl < Jif Jé F s ‘__g{ rlb.l J! -‘L.yj.L. 1 djfdd(f{ st d{gﬂl s é{f JLs3 Sl
(Zé g=10ms~2): {.usd/ Fee t/@C?J)JJ;JILcylé 2ms~2 m, et
Question: sy =0 g
F
—» M=100kg | my =20 kg
A: 3360 N
B: 3380 N
C: 3120 N
D: 3240 N
Topic: Physics-Section A
Item No: 32

Question ID: | 100132

Question
Type: MCQ

Question: | - (it b3t e (Fylst IS UL 2L 10 MHz & 6 MHz 5 £f]

A: 4dm

B: 20 m

C: 30 m

D: 50 m

Topic: Physics-Section A
Item No: 33

%{es“on 100133

Question
Type: MCQ




605 - Qe 35 2250 0 2 s 10 e e 3U5 4250 L A5 7 8er bty 05"

-

Question: - Lt
(2 log;1.88=0.274)

A 0.02 min 1

B: 2.7 min~1

C: 0.063 min ~1

D: 6.3 min~ !

Topic: Physics-Section A

Item No: 34

Question 1 100134

_?;pe;tion MCQ

oo | S ot Lt S e (S0 LE 2515 E3£1S 100 Wm =2 = %1 900 nm &
| : Jmlﬁd/w}LuL;}@fﬁ?.ﬁ&a. i/dll cm?2 (s

A 3x1016

B 4.5 %1016

c: 4.5 %1017

D: 4.5 %1020

Topic: Physics-Section A

Item No: 35

Question 1 100135

_?;pees:tion MCQ

cvesion Qg iz blabit QL % Vb Be A e 12 mm Qg $ Ut AL Al £
| NAWGTN

A 16




B: ]

C: 48

D: 12

Topic: Physics-Section A
Item No: 36

Question ID: 100136

Question Type: | MCQ

a5 Gl
!

Question: = _ an— 8 - et 111 .,
B =2x10 Sm(O.SXlUl-l-l.SXlO t]vT.

e ds —a by 5L

A: u'/"c’./.,ri -x 6Vm~™!
B: ul/"fc'./_.u; -z 3Vm™!
C: u'/"c’./..ff -z 6Vm™!
D: ul/"fc'./_.u;-z 2x10~8 Vm 1
Topic: Physics-Section A
Item No: 37
Question
D- 100137
Question
Type: McQ

A Xy =Xe SUL BLIE Ceplloc _e Py 23l X =R S LR Sy kb [
Question: P

1 " B ,
fe E b - lbx Py dfﬁ’.’c—!w:"aﬂgl;ﬁ;)ﬁrb

1
A: —

2

1

B: —

J2




S

C:
J2
D: v A |
Topic: Physics-Section A
Item No: 38
Question
D- 100138
Question
Type: MCQ
# ((x? 1)) ms 2L e S (2? + %}\) T U5 b UL a3 3 L6
Question: T '
ne AR
A 3
B: 6
C: 12
D: 2
Topic: Physics-Section A
Item No: 39
Question
D 100139
Question
Type: MCQ
. Flstyng 200 o4 X ES e By 1 By o P 5E i g s dr L Y sl X Usmndtsns Gl
uestion: ‘
Gt BBy 4By < 20 cm Sidiilus 400 U2 Y (sl 20 cm Bid
A:
B: 1:2
C: «1
D:
Topic: Physics-Section A

Iltem No:

40




Question ID: 100140
Question Type: | MCQ
: Jm;d..:uféﬂfé <
4 ()
VWA
20 4 0
Question: \N\/\zf—\/\/\/‘v \NW
4 () 4 ()
I M e b
)
40V
A: 10 A
B: 20 A
C: 4 A
D: 40 A
Topic: Physics-Section A
Item No: 41
Question ID: | 100141
Question
Type: MCQ
AP Cy=3 uF 4 Cy=4 uF « Cy=2 pF «Cy =1 uF U 7z 5017
Question: ) ’
(e 2 AL RIIE6 346 20V LU /)
A 200 ;.LC
B: 200 C
C: 10 ;.LC
D: 10 C
Topic: Physics-Section A
Item No: 42
Question ID: 100142
Question Type: | MCQ




Question: ; fﬁ &!JF}&E’J{J?L d‘h;cf. Jw.:.?s:'_ t'/afﬁgfn: Lr'uﬁ‘_g__.ﬂ:
A: d}/
B: Sr%
C: JiLsr
D: R
Topic: Physics-Section A
ltem No: |43
uestion | 100143
%Jpees:tion MCQ
ST A 338U e dndad 40°K e tzandl 7 mol L e nk Ligs
Question: S KA S i N1
(R=83]JK~tmol~1 < |)
A: 5810 ]
B: 3486 ]
C: 11620 ]
D: 6972 ]
Topic: Physics-Section A
ltem No: | 44
Question 409144
(TQ;pe;tion MCQ
Question: | ¢ g5 F YLK rgnzﬁ;.@u.&aqﬁf&f&"’l%lfﬂdﬂﬁ.{uﬁd/ VE 5P
A: P
B: 8P




C: 32P
D: 64P
Topic: Physics-Section A
Item No: 45
Question 1 100145
Questi
T;pees: ion | vica
Question: %L,;L‘f’ﬁ.‘.&r 75 dyne/cm Sl:ftfbf&l;)ﬁl il ClolJ I UsadSslr 729 )j-}"_‘ijdld&dlfébed 1cm
(r=314:c|) : ?ﬁjulufétlif_ﬁ»m
A: 85x104]
B: 8.2x10-4]
c: 75%10~4]
D: 5.3x1074]
Topic: Physics-Section A
Item No: 46
Question ID: | 100146
Questi
T;peesz ion MCQ
e bbbl FOIS 32km e DUt En ar Bt nd 2 L]
Question: oo ¥ : - -
(6400 km = S _:IS))
A: 1%
B: 3%
C: 4%
D: 0.5%
Topic: Physics-Section A

Item No:

47




Question

D: 100147
Question
Type: MCQ
..g_,{?;’f.,fn’c’:j/,‘_’l_ﬁc’: 2Nm~! ,1-'5;"._{/;"& 250 g :JJ‘-Q/:LU:U’;.#G: chUrfc’:gP{d:
Question: : fﬁfggw:}f‘yluff,;’l.,ﬁi.lgd:;: v ;gzufuf“:bz'?/dlﬁ
250 g | — 00000 250 ¢
o
A: Y
242
[
B: —
2
[
C: .
4
o
D: —
J2
Topic: Physics-Section A
Item No: 48
Question
D: 100148
Question
Type: MCQ
et e Ul dms 20l o (FAEK 350N 2 —e to g Fufle 50 kg =l §U s
Question: ,‘LL‘IA’ZQILCI/IL 5ms~2ss/%
(g=10ms~2) : ag.d;,c:é‘
A etz Ao T=700 N
8 et AL 2 T=350N
- k] h‘ s
c: etz s Qo A5
bW
D:




Topic:

Physics-Section A

Item No: 49
Question | 100149
1Q_;Jpees:tion MCQ
Question: UJJGJJLQlel -u[fg“%.fuflf;l(‘yldjvufaﬁ'ﬂdﬁw'g?l:::za'_l:;ugﬂ} 45° sl 30° u-g:'/ﬂLL jl
L1 4
A 1:42
B: 2]
C: \/E 1
D: 152
Topic: Physics-Section A
Item No: 50
Question 1499150
_?;pees:tion MCQ
LS e b 1L Lt BEEuE LYY 68 cm S ELLE 05 mm
Question: i fﬁufufﬂf”td}%;ﬁfflﬁrbgqéyu_g 7 _f,»:;JL.gdu’lml 1.5 mm
[t 50 sl kbl ]
A: 6.8 cm?
B: 3.4 cm?
C: 3.9 cm?
D: 2.4 cm?
Topic: Physics-Section B
Item No: 51
uestion | 100151
Question

Type:

Numeric Answer




e S0 _un y=5x (1—2) ebdiuin » § a3t er S ol

Question: _Ex j:\ 2y K
(éfé g=10ms~2)
Topic: Physics-Section B
Item No: 52
Question
D: 100152
1Q_ue§tion Numeric Answer
ype:
Sl we e SpL P\ Soe T L S HTIPE PG ILS R Fidin 1kg o
Question: | 852 -‘a.t'lglﬁ){/(lﬁ?,.«l -‘a.t‘lfgég,bﬁ;ijla.gﬁJ}ﬁ-ﬂK&Jd}LAJJJJ} ..‘L.}){;d}:"’L
(g=10ms~2) x= Uz _.d/yz 4 |'3; rads—1! J&JJLJUJJI;‘LerUAng'ﬁ
Topic: Physics-Section B
Item No: 53
Question
D: 100153
1Q_ue§tion Numeric Answer
ype:
Lt gmL  f ) e b\ Ffi L8 BGH L f Ll 1m £ (denn
04 mm A-LEF § 001 mm SBLE _e tblt 04 mm AL EEFS +0.02 mm S
Question: | § x -« GEG xx 1010 Nm~2 (AY) Ut FledUid o - b i 13K 1kg o bl
_..‘L. J.:’
(& g=10ms—2)
Topic: Physics-Section B
Item No: 54
Question
D: 100154
Question

Type:

Numeric Answer




2P~ 50 Hz s e B AL e e 100 Hz si¥id e (o813 AEatin L6 LI

Question: B %
. =x Ul 5 Hz e b/aZd0 L kel 2
Topic: Physics-Section B
Item No: 55
Question
D- 100155
Question .
Type: Numeric Answer
J’fu}»:; - "Lfgléjuf ffb;,? Ut sl by ugL"!‘dlc)?':"_L‘r. el dﬂjﬁﬁniﬁﬁﬂlgd}l;’lﬂz—p
_Bu \% ’JJK{};JJF‘ ,‘,{;:Zd_’l,q,g;s‘ﬁ F G"Jiﬁ_g /_FLJJ.JJ
Question:
£ =3, =05 mm i P
£, =L H=1mm T
Topic: Physics-Section B
ltem No: |56
Question
D- 100156
Question .
Type: Numeric Answer
Sx Mb’r'"}i"‘t._g.,;l -« 40cm [ JI,-JJL‘)}IQ -{_.k@%ufgﬁfb;?{_kﬁjﬁuf&?ﬁbzﬁfu??
038 x & e Qb 80 em e o ASISUSELIIE < b1zt b FLLP
e
Question: T P . Q T
P=41)
<«
A C
J
|t o)
k \®J
E K
Topic: Physics-Section B
Item No: 57
Question ID: | 100157




Question

Numeric Answer

Type:
_Jﬂ A udgf;ﬂ)ﬁ&{féé.:{:ﬂ{_ﬂaﬁ
80  20mH 6uF 40 50 8O
] T GEEE e | AvI" BEET NNy
Question: *_f o= A5 pF = 0buF
T S e A — ]
1+ 05pF 10 fuF 40 0.8 uF 20
A
L
220V
Topic: Physics-Section B
Item No: 58
Question
D- 100158
Ques.tion Numeric Answer
Type:
" 3 - s . 1 1 oy . . s
Vb e e S e Qb Bl oIS LA L LTI WS ek
_.J}’n' cm u;J R.«< R LﬁﬁﬂJQ}éﬂuﬁnJJw -« 1.5
AY
e (r;m"'i)
\
A g ¥
Question: 4 0.08
4 0.06
+o0g
3002
X‘{ 010 — 0.8 —0.06 — 004 082 0
) 3 Ly —
0 el b
Topic: Physics-Section B
Item No: 59
Question
D- 100159
Question

Type:

Numeric Answer




Question:

L/JJLE}”LJJU:?:JJJ:’&L/’.:LE'U?‘E -< A J}J,bd/bd},ﬁ% LE’&U fu":ﬂL'L’(,fJZ, gf'uf?k

= Uzt “a) ” S AL st
Topic: Physics-Section B
Item No: 60
Question ID: 100160

Question Type:

Numeric Answer

e mA 234 3z e s
4Kk 1 I,
Ovestion MA—>—— —>
uestion:
v L
NP 7 ,
(100-120) V 7: RV, =60 V< 10 kO
Topic: Chemistry-Section A
Item No: 61
Question ID: 100161

Question Type:

MCQ

Question:

ot (D)

SHAC, ()

Ji a8l am
& av)

2 Uiz M. & 1

S

)
BrFs (A)
[CrF 3~ (B)
O; (€
PCl; (D)

: éjuwc‘-f?}&.- UfJJLT'Z.L,t:




A (A) - (1), (B) - (II), (C) - (11I), (D) - (IV)
B: (A) - AV), (B) - (11I), (C) - (1), (D) - ()
C: (A) - (A1), (B) - (IV), (C) - (1), (D) - (1L
D: (A) - (IIL), (B) - (IV), (C) - (1I), (D) - (I)
Topic: Chemistry-Section A
Iltem No: 62
Question ID: 100162
_CI_J;JpeeS:tion MCQ
e Bulire . oA $ 1.
| I I-&
o /S (Sl
Fe(s) (1) 250,(g) + On(g) = 2505(g)  (A)
Question:

Ps)-Rh(s) ()  4NHj(g)+50,(g) — 4NO(g) +6H,0(g)  (B)

V,05 (1ll) Ny(g) +3Ha(g) — 2NHy(g) ()
Ni(s) (IV) Lty ()+Hy - (5) (D)
e L
A (A) - (1), (B) - (1), (C) - (11), (D) - (IV)
B (A) - (1), (B) - (II), (O) - (1), (D) - (IV)
c (A) - (IV), (B) - (111), (C) - (1), (D) - (1)
D (A) - (IV), (B) - (11), (C) - (111), (D) - (I
o ———

Iltem No: 63




Question ID: 100163
Question Type: | MCQ
- gf&..;&;;é
e bt OB LIS n S BIAAL L Ol s Tk
Question:
_ebrmlish e BadS s ML BLdE ET (1 yk
e &
A _{,{;é‘II b I T Pl Usns
B: PG T Wl s T e U
= _..-:'_,[,,i;' IT Yk s éol Gk
D: _..*:'_éo IT Yok T Yl
Topic: Chemistry-Section A
Item No: 64
Question ID: 100164
Question Type: | MCQ

Queston: | o7 3 A b LA SUT s Sl

A: - (f =S

B: bl IR

C: -»f_u:L}:a..'J""!‘ dﬂz

e b St L bt
Topic: Chemistry-Section A

Item No: 65

Question ID: 100165




Question Type:

MCQ

Question: | ¢ & by JeIpde i 3 L0 7 € Hy0,
A EJX

B: j:'l.{ﬁ .iLUG

C: pe

D: d }&;’HI

Topic: Chemistry-Section A

Item No: 66

Question ID: 100166

Question Type:

MCQ

L e AL LiAIH, JWE BeCl,

AICI; (A)
BeH, (B)
Question: LiH (C)
LiCl (D)
BeAlH, (E)
R &
A (E) #1 (D) <(A)
B: (D) 2! (B) <(A)
c: (E) -+ (D)
D: (D) 2! (C) «(B)
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%festion 100167

_?;pees:tion MCQ

Question: U2 Y sl X bbb JEL MY $ile 6 41 "X ol 3 el QST 0L S T
A NHj s/ BOOH),
B: NH; s/ BoH,

c. HNj s BoHy

D: NH, and B,O,
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Question ID: | 100168

Question Type: | MCQ

Question: T e J’.{Jt‘ﬁd/u"bf"..‘_w I:':r_,wd'bf- L ufgt:

A 2H,0, — 2H,0+ O,

B: 2NO, + H,O — HNO, + HNO,

c MnOj +4H* +3e~ — MnO,+ 2H,O

D: 3MnO; +4H* —2MnO; + MnO, +2H,0
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Question 100169

%;Jpees:tion MCQ

Otestion NI ;’@wadl_gf@ﬁquf@w’ ¢ KMnO, AP FeAL 1 BTt di52
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A: 5

B: 1

C: 7

D: 2
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Question ID: 100170

Question Type: | MCQ

Cl+CH; > A+B

Question:
U B ol A JESEG s
A: Clz VIl CzHﬁ
B: H2 yIl é H(:rl2
c: HCl 4 CHg
D: HCl s C,H,
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Question ID: | 100171
Question MCQ
Type:
Question: ¢ g@%ﬂdufaufgtjé.éi.ﬁﬂw;&xﬁﬂﬂ mg Z.MIJ{QJJU}:."J}"’L'_.p
A: {JJ'JQ:
5 By -7
C: l&ﬂj
D: (Y8 Lil) TLC
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Question ID: 100172
Question Type: | MCQ

Question: P _lfqzjd/i.ﬂ AL sy U:EIJQTHI;L—‘L u‘-:mgfrﬁ;;}b/d'bf" KJJ'.‘:’
A HE S

8 BN

C: b el

D: jIJ/g;}Gluwan
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Question: ¢ %Jj/u@;ﬂflu;’:;,u:gbrféd_:
A:
&
B:
C:
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Bl A uﬁflvuﬁukl;fnidﬂﬁ
O
uestion [Ag(NHz);]* OH _ . NaBH,
H CHO
& H OH
A: - @ - @
H  CH,OH H  CH,OH
H OH H OH
B: N @ - @
H CHO H  CH,OH
e H OH
C: - @ - @
H COOH H COOH




2 H OH
A= \ Bz‘ \

D:
H  COOH H  CHOH
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Question
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Question
Type: McQ
SIS ISR L skt Shd ISP FL Jv S (PhiMgBr) s ﬁ”%}”f Ju> Ly
2
Question:
Ph
I
Ph— CII - CH
CHj,
A: CH3 —C=N
B: Ph—-C=N
O
C: Il
CH;-C—-O-Fh
Ph—C—-CH,
D: Il
O
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e ISl S Ls SIS S

OCH;
Question: OzN
(i) Na/liqNH;
(ii) CHyCH,OH
OCH,
H
A:
O,N
OCH,
H
B:
H,N
OH
c oy—@
OCH,
H
D: 02N
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Question Type: | MCQ
e anrirBEEL Fapt 5L s
+N,Cl™
OCHj,
N; Cl~
(B)
Question:
NO,
Ny Cl~
@ ©
N CL~
5; (D)
CN




A (A) > (B) > (C) > (D)
(4)> (C) > (D) > (B)
2 (©) > (A) > (D) > (B)
D (©) > (D) > (B) > (A)
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Question Type: | MCQ
Question: ¢ @LhM)LJJ;L/J&JﬁKJ w-ldg,umu [
A: dend ma
B: g (e
C: ,_gm&t_-_l
D: M%
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Question: ¢ 'f—-ﬁ&,f“f!;u:ttf’
OH
H—g”
H-C-0OH
|
A: HO-C-H O
|
H-COH
|
H-C
|
H




HOCH, | H
. H H
H OCH;
OH OH
HOMC | H H  CHOH
OH OH HO OH
OCHL,
H OCH;
H OH
D: HO H
H OH
H OH
CH,OH
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Queston | cq
Lt R) 22 e st (A) bl IL = L s blenrt
S A p st 0 FLE AICL, st AEISE AL £K CHACL © (A) - bl
Question: | 2 &1 M m L et sl —NH, ¥2dle ol b GAL AICL :(R) -2
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A: _.::'_,.ﬂﬂf’é} (A) <(R) le{,,fg (R) 2 (A) U2
B: i,f_u:.&uéé‘ 5 (A) ‘(Rw?ugé‘ (R) 41 (A) U
C: : J? éﬂ
_..c:'_.lzji R) g==C (A)
D: ép C)p é
-0 (R) =<tk (A)
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?ues.tion Numeric Answer
ype:
Mg EUFUL LY 2L L 48 ppm & Mg £ S A IS nd b il
Question: (Jﬁc):/"%/;) - .:'.f-f":J X -Uinf xX 1020 J'ﬂﬁd;;ﬁ
[6.02x102 mol~1 = Nj-< 24 g mol 1 sz 26 Mg : 1]
Topic: Chemistry-Section B
Item No: 82
Question
D- 100182
1Q_ue§tion Numeric Answer
ype:
Quest bar 3ls($s% Kcﬁuﬁ? l-< s 22 '5LJU{K9/‘£TJ;?¢. (}.}JJ T X 40% de".frxﬂ cﬁuf;bf L a){ﬂ.ﬁ
uestion: z 4 >
Guef S ) B
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o d/x_‘a Jﬁayr B x e L?)}',JJL'}J}J:‘: &'}&JJL’)JMH..).‘ J?_lgﬁubf Z-/}’JPJL;J:}XI 7] C)J}m
Question: (wc):}%}) <
—e 1.6X10-27 kg Wisgsinl 9.1x10-31 kg ¢inys i
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?ues.tion Numeric Answer
ype:
oA VA1 -J ALY . AU ALY A A4 LOARYOUT 173l atm s
Sone 298K wizoni Sk Sile A REAAIE L2 g fbonrSF T, 298 K
ne 2id v e —x K mol 1 UL FIUmL S L Lo bn 300K
Question:
Gl 2z /)
[-ZE P Pl e 2001 K1 Flar§REA L Ul
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_I(?;pees:tion Numeric Answer
Slea dn FEAAF 115 gt e bl nidf TP AF 0.5 M 800 mL 4 Al
Question: G Fe ) - ¥xx1072M G S il
(< 63 gmol ~1 cJJJ/J}"d/MI_ﬁ"L')
Topic: Chemistry-Section B
Item No: 86
Question ID: 100186

Question Type: | Numeric Answer




e 21015 W-3iidl L JBL 5, 298K

Cu(s) +2Ag * (aq) = Cu?*(aq) + 2Ag(s)

Question: . JL‘;
L 2+ N 1 , T
ECU {ag) + Ag(s) = > Cu(s) + Ag ' (aq)
Gwe/ 7t /) _.d/ﬂ .:..ch ¥ X108 el
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%Jpees:tion Numeric Answer
"y (32 F el s ind L S f e 7TUrLie FeyO,
Question:
Cwg 7z ?)
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?ues.tion Numeric Answer
ype:
s 05 LABIE A Seca AL 50 s 51100 suV s idd L A - 2B+C S
Question: )
CGug7es /) - ,;;;KJL-J" -< mol L-11.0
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?ues.tion Numeric Answer
ype:
Question: Sl S [Cr(H,0)4]Cl5 2+ [Co(H,0)6]Cl,

-
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